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QUESTION NO: 1
What happens during an active BlackBerry MVS call when a failover is initiated by the
BlackBerry MVS Console? (Choose one.)

A. Active BlackBerry MVS Wi-Fi calls are preserved

B. Active BlackBerry MVS Voice over Mobile calls are preserved

C. All Active BlackBerry MVS calls are dropped without notification

D. All Active BlackBerry MVS calls are preserved

E. All Active BlackBerry MVS calls are dropped after the notification tone

Answer: D

QUESTION NO: 2

Which type of database authentication is required if BlackBerry MVS is installed on a
different Microsoft Windows domain than the BlackBerry Enterprise Server? (Choose
one.)

A. Microsoft Windows authentication
B. Microsoft SQL Server authentication
C. Authentication set todb_owner

D. Trusted authentication

Answer: B

QUESTION NO: 3
For BlackBerry devices that operate on GSM networks, which Voice over Mobile call
direction offers optimal performance and reliability? (Choose one.)

A. BlackBerry device-initiated
B. SIP Line

C. SIP Trunk

D. PBX-initiated

E. Voice over Wi-Fi

Answer: D
QUESTION NO: 4
What are three functions of the SIP Line connection between the BlackBerry MVS

Session Manager and the PBX? (Choose three.)

A. Registering BlackBerry MVS users with the PBX



B. Communicating Call setup messages

C. Reporting on the health of the BlackBerry MVS Session Manager
D. Exchanging KPML messages

E. Performing PBX directory lookups

Answer: A,B,D

QUESTION NO: 5
Which logging level in the BlackBerry Mobile Voice System Configuration tool logs the SIP
messages between the BlackBerry MVS Server and PBX? (Choose one.)

A. Info

B. Severe
C. Warning
D. Finer

E. Finest

Answer: E

QUESTION NO: 6
Which service book is required by the BlackBerry MVS Client to function properly?
(Choose one.)

A. Desktop [VoIP]

B. Desktop [MVSSIP]
C. Desktop [BBMVS]
D. Desktop [BBSIP]

Answer: D

QUESTION NO: 7
What is the maximum round trip ping time supported between Cisco Unified
Communications Manager and the BlackBerry MVS Session Manager? (Choose one.)

A. 40 milliseconds
B. 80 milliseconds
C. 120 milliseconds
D. 240 milliseconds
E. 480 milliseconds

Answer: D



QUESTION NO: 8
What is the purpose of the line port in the BlackBerry MVS Telephony Connector
configuration? (Choose one.)

A. To allow the BlackBerry MVS Session Manager to receive BlackBerry-initiated calls
from the SIP Line on the PBX

B. To allow the BlackBerry MVS to forward calls using the SIP Line on the PBX to the
mobile number of the BlackBerry device

C. To allow BlackBerry MVS to initiate calls using the SIP Line on the PBX to the mobile
number of the BlackBerry device

D. To allow BlackBerry MVS Clients to register as a BlackBerry MVS Client on the PBX
using the SIP Line

Answer: D

QUESTION NO: 9
What is the primary function of the BlackBerry Dispatcher in the BlackBerry MVS Solution?
(Choose one.)

A. It compresses and encrypts all data that BlackBerry devices send and receive. The
BlackBerry Dispatcher sends the data through the BlackBerry Router to the BlackBerry
MVS Session Manager.

B. It compresses and encrypts all data that BlackBerry devices send and receive. The
BlackBerry Dispatcher sends the data through the BlackBerry Router, to and from the
wireless network.

C. It compresses and encrypts all data that BlackBerry devices send and receive. The
BlackBerry Dispatcher sends the data through the media gateway, to and from the
wireless network.

D. It compresses and encrypts RTP traffic that BlackBerry devices send and receive. The

BlackBerry Dispatcher sends the data through the media gateway, to and from the
wireless network.

E. It compresses and encrypts RTP traffic that BlackBerry devices send and receive. The

BlackBerry Dispatcher sends the data through the BlackBerry Router, to and from the
wireless network.

Answer: B

QUESTION NO: 10

An organization has a hunt group that is configured in the PBX with multiple outgoing
trunks. Each trunk is assigned a unique Caller Identification Number. Where must each



Caller Identification Number be added to ensure that PBX-initiated calling will work?
(Choose one.)

A. The MVS locations field in the BlackBerry MVS Console

B. The BlackBerry MVS Client on the BlackBerry device

C. The BlackBerry MVS Session Manager in the BlackBerry MVS Console

D. The BlackBerry MVS Telephony Connector in the BlackBerry MVS Console

Answer: D



